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SA - ZE-B(EN) - NRAY - B S il &t o il RS2
01 At 22l 5,000 5,000 0
Oduiz &4 S 5,000
207 A RO 19,807 16,000 3,807
EEET 19,807 16,000 3,807
OZ=s8d 19,807
301 L2 A= 7,000 7,000 0
07 2BI=&EN 7,000 7,000 0
ogsa 5,000
ORMI Bl 2,000
303 L&t 3 23,000 23,000 0
01 243 23,000 23,000 0
OXNEEYH ZZSE 243 23,000
310 220l & 20,000 40,000 220,000
01 220Z 40l 20,000 40,000 220,000
O=HMsS 20,000
=g 43 X 27,000 27,000 0
201 Let24d] 26,000 26,000 0
01 At 2teltl 26,000 26,000 0
Ollei =g 20,000
OO0leH & &t 6,000
301 et a = 1,000 1,000 0
09 At HI B & 1,000 1,000 0
OO0l = 1,000
Z2& D=3 JlsHy 174,818 174,818 0
101 @124l 114,818 114,818 0
04 J12tHI 22 Xt 114,818 114,818 0
gx ZmBR 104,410
o4 = 10,408
207 AR H| 60,000 60,000 0
03 A& & 22l 60,000 60,000 0
OsXM & 60,000
& Bdts 20,000 0 20,000
207 A RO 20,000 0 20,000
03 Al & 12HI 20,000 0 20,000
OE=g3 20,000
gRe AMe 224,400 024, 400 0
101 @144 Hl 164,400 164,400 0
04 J12ZtHZ22 X 164,400 164,400 0
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Helr AEAES HZYAIIs R (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
ogmzael & AIEXZA 149,100
o428 s HERE= 15,300
207 O] 60,000 60,000 0
03 A&l & 24l 60,000 60,000 0
OHEH ANE sXM L Al 60,000
HA MSS |4 & MHioI= i 125,400 125,400 0
101 14l 59,000 59,000 0
4 JI2ZtHZ22HEE =+ 59,000 59,000 0
O&E4d & THHHAR2C 54,000
O4li2s s HERES 5,000
207 A O] 66,400 66,400 0
03 A& & 24l 66,400 66,400 0
OFEs4 & ANEgHR e 66,400
S Mo 35,700 34,740 960
= 35,700
101 @124l 26,400 25,740 660
= 26,400
04 JI12ZtHZ22 a2+ 26,400 25,740 660
ORBE MMTRHZ 24,000
- 24,000
O4li2s s HERES 2,400
= 2,400
206 = Hl 9,300 9,000 300
= 9,300
01 MHZ 8l 9,300 9,000 300
O3S Mz 9,300
= 9,300
AN MSAF AStA HAAY 1,063,000 1,142,000 279,000
2 1,063,000
201 LEr2A | 5,000 5,000 0
= 5,000
01 At 22l bl 5,000 5,000 0
OBIte 4+ 2,000
& 2,000
OBtz & JAIE 223 3,000
= 3,000
202 4l 26,000 26,000 0
= 26,000
01 S LHOIYI 6,000 6,000 0
OBt 2% o=z 6,000
& 6,000
03 =220l 20,000 20,000 0
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SR AYREB AFMMIIS Y (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O4terA ol 2l o == 20,000
= 20,000
301 L2 Az 1,000 1,000 0
= 1,000
09 HALAHIEA S 1,000 1,000 0
Ogltal &AL =4l 1,000
& 1,000
307 glz2+ol & 1,031,000 1,110,000 279,000
& 1,031,000
02 RIZHENEXS 1,031,000 1,110,000 279,000
OXNEE&Z setAYAH 2F 691,000
& 691,000
OEst&A=H 2 Xl 340,000
& 340,000
NgaHd1g =4 1,618,000 798,000 820,000
2 809,000
< 809,000
401 A EHI L 2Ol 780,000 458,000 322,000
2 390,000
< 390,000
01 A& HI 776,600 455,400 321,200
OAEAE BSNEZ HEAL 89,400
2 44,700
< 44,700
OsIH, s #210 35 299,000
& 149,500
S 149,500
OANHEDIRA &5 HHHE A 109,400
= 54,700
< 54,700
OXotEs+ == 2t Al WX 20,000
& 10,000
< 10,000
O2sAg HE Y Ld5A4d 99,400
= 49,700
< 49,700
OEBXE 2toIAIMEH &XI 159,400
& 79,700
< 79,700
03 Al 2 0HHI 3,400 2,600 800
OAxE SNHES HEAE 20U 600
= 300
< 300
OsJIAH, s &1 5= 20| 1,000
& 500
< 500
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101 124 dl 129,000 129,000 0
4 D12t Z2XREES 129,000 129,000 0

O=Z & 22| & AEZ A 117,300
O42e s HERES 11,700
207 Ao & H| 100,500 100,500 0
03 Al & 11Hl 100,500 100,500 0
OANEHR M= 100,500
SZMHIE 0|8 MUEE =4 142,960 142,960 0
101 @124 dl 59,960 59,960 0
4 D12t Z2XREES 59,960 59,960 0
OANEZZE & HHea=2d 54,500
O42e s HERES 5,460

207 A RO & H| 83,000 83,000 0

03 A&l & 24l 83,000 83,000 0
OXZHY & ZEWS 83,000

TEF =glls e 475,690 475,690 0

SYEZE Sl 192,400 192,400 0
101 @124 dl 92,400 92,400 0
04 JI2ZtHZ22XREES 92,400 92,400 0

OAMEZZ & Ags 2dae| 84,000
O42e s HERES 8,400
207 A& H| 100,000 100,000 0
03 Al & 12 Hl 100,000 100,000 0
OEHIg MEAT M= 100,000

e "ol SE2elldl=s Hg 89,395 89,395 0
101 124 dl 37,395 37,395 0
4 JI12ZHHZE2EXNEES 37,395 37,395 0

OxZac & Ags 2922 34,000
O42e s HERES 3,395
207 Ao H| 52,000 52,000 0
03 A& & 224l 52,000 52,000 0
Ogel A2z 52,000

sl # RE23 &Y Ji=Heg 89,395 89,395 0
101 @14l 37,395 37,395 0
04 JI2ZtHZ22 a2+ 37,395 37,395 0

OXxZac & Agay 2922 34,000
O4li2s s HERES 3,395
207 A RO H| 52,000 52,000 0
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03 A& &2l 52,000 52,000 0
OdlE, tH2E AEEIME 52,000
S&2 SO &4 Dl e 104,500 104,500 0
101 @124l 49,500 49,500 0
04 JI2ZtHZ22HEE = 49,500 49,500 0
OJtsa el & AgXZA 45,000
O4li2s s HERES 4,500
207 A RO 55,000 55,000 0
03 A& &2l 55,000 55,000 0
OJNZBAE d2W= 55,000
s 2, ¥ 43 648,420 604,460 43,960
= 346,420
- 112,000
< 190,000
2 gelst AR 22,000 22,000 0
101 @124l 10,000 10,000 0
04 D12t 22 HEE =+ 10,000 10,000 0
OGIOIE +7 5XBY JI=2e 9,090
OdlRE S BILLS 910
201 Let24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OZz0d u=s & 34 22 5,000
301 e Az 7,000 7,000 0
1MIIEESS 7,000 7,000 0
OsJtdEx At 7,000
SHIZIYESIHEANAE 2= 224,000 224,000 0
& 112,000
< 112,000
201 Let24E] 81,000 98,000 A 17,000
&2 40,500
< 40,500
02 =224l 81,000 98,000 A 17,000
OAAY Sgael & dEd= 81,000
= 40,500
< 40,500
207 A RO 54,000 70,000 216,000
& 27,000
< 27,000
02 & & 2 54,000 70,000 A 16,000
OZHY & Hg & 2L s/W Fe 54,000
& 27,000
= 27,000
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405 RHoHE S HI 89,000 56,000 33,000
= 44,500
< 44,500

01 AL EZFH S 89,000 56,000 33,000
oggsty Olsst & &4 WA 89,000
=2 44,500
= 44,500

shHEdIls 834835 154,500 142,500 12,000
= 130,500
= 24,000

201 Let24E] 28,000 10,000 18,000
= 14,000
< 14,000

01 At 2teltl 28,000 10,000 18,000
OZ&E =& & MMEEF 7Y 28,000
= 14,000
< 14,000

202 O4dl 12,000 20,000 A 8,000
= 6,000
< 6,000

01 = LH 4 4l 12,000 20,000 A 8,000
OBHEAES S PRFL 12,000
= 6,000
< 6,000

301 L2 A F 8,000 0 8,000
= 4,000
< 4,000

09 HALAHIEA S 8,000 0 8,000
OAMOIH =2 4 4% B4 8,000
= 4,000
< 4,000

308 XXM SO0 A 106,500 62,500 44,000
= 106,500

01 AXSHBLAEES 106,500 62,500 44,000
og@aEs 2= XA 37,500
= 37,500
OAOIH=Ql e-HIXNLIA ASEE K& 69,000
= 69,000

S8 ASXZA, =4 113,920 91,960 21,960
= 113,920

101 @121l 15,600 15,600 0
= 15,600

M4 IR Z22NSES 15,600 15,600 0
OASEAE g3t o 24 14,180
- 14,180
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O4li2eg s HERES 1,420
= 1,420

202 odl 5,800 5,800 0
= 5,800

01 = LH o4 1l 5,800 5,800 0
OsdtE2 2STA =& 5,800
= 5,800

308 XXIEH SO0 A 92,520 70,560 21,960
= 92,520

01 AXNSHHBLEES 92,520 70,560 21,960
Osda8 LS A 248 N 92,520
= 92,520

AN¥=glls F23 XA 134,000 124,000 10,000
= 102,000
< 32,000

101 1A dl 36,000 26,000 10,000
= 18,000
= 18,000

M4 D122 EXNSES 36,000 26,000 10,000
O&E3 2l 32,730
= 16,365
< 16,365
Od4Ed S HEREZ 3,270
= 1,635
< 1,635

201 L2l 4,000 4,000 0
= 2,000
< 2,000

01 At 221l 4,000 4,000 0
O&E3 222 4,000
= 2,000
< 2,000

307 gl2tol & 24,000 24,000 0
= 12,000
< 12,000

04 RIZHHAIE XS 24,000 24,000 0
OAMOIH sgel 323 3 3l 24,000
= 12,000
< 12,000

308 XXIEtH S0l A 70,000 70,000 0
= 70,000

01 IXNHHBNEES 70,000 70,000 0
OXE=sdlls E2s XN 70,000
= 70,000

HH2IHEU (sl ARNL=R) 219,000 208,200 10,800
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SA - FE - BI(EA) - NRAY - By 0l &t San DS

JlE &3l 219,000 208,200 10,800

Jl23l 219,000 208,200 10,800

201 €24 104,400 99,000 5,400

01 AF22t2l bl 95,400 90,000 5,400
OJIzHLgRF 95,400

02 2324l 9,000 9,000 0
O332= % HAl S 9,000

202 Oddl 95,400 90,000 5,400

01 = LH 4 di 95,400 90,000 5,400
OJlzHLeRF 95,400

203 YR =&l 19,200 19,200 0

01 )22 =4 6,600 6,600 0
o=% 6,600

04 FENSEHE=LH| 12,600 12,600 0
OAl S X3 &7t 4,200
OllcHsSA T 4,200
Osgatzdan 4,200




